AH|Ql2|A AEOlEIA =

=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

Al

A =

EEE £502 E0{olBl OB &3 9IRIZ OIS T 4 YLt
2474 55 Qle| A ERIx{E MT 57| ofeie Mx| BTro = T of
R7LE QIRIZ SR, OHFIA STolA #1Z A5 0| LR B0l A8
gLt

olel Al Zaixio TR AHO|2] @7 H2H Ho|2S Sai 0|F0{Z
Uick. ©I=4Al ERiRie &S 240 THOE Chet Eobol ALRE &

TH&EL:

QI Al ZRK:

LIAI £2|H 1.4305.
32 El1.4034.

oHZ0{0|E{ 1.4305.

HAYE O8], d7lad K|

Q?}olo{ 2= 1.4401..

LHE el |27} ZRtAEICE FEIEI AEl 910|0] 5t E
g8 aXoldE &2|2, 17 LEAF & LEAF LE.

EP 0pa);
LIAF g2l Sae A
&3 E, 75 2 oo

2eU 70|E &2

74
[ | .
HAIE a8l |ItAd X, ZA3|M RAL7021.

FE I

A ZYE 0|88 QA EUX{Q &S 24 HIEA| 242 F235
AlA|2

= .

Mg

R BEO|CHA S E BIESE LIAM LIE (D5 x 7 mm)E A 5tod JHE

=i BES AA”Ho] SEE £ UsLch

Chefst Zojo| 2B A 0|2 A E & UaLch

ZtZto| Mol = HWH T E EF5tT| flsH T3 Alof £ AHO|E

£ Mgst Zo|2 HetM A8 E = UaLct

Merst IHME o MEint IR XEIE S5l BAS YK + UsL

Ct. 2tolof 70|18 = E2E 70|18 LIS2 R Al ZHEHsHH nAE

= ULk

E2 7olE2 Mx|E W CtS AMEE RolSUAI2:

CHE % otolof Zols Mx| 2, & Btd 2 55 52 el wet &
=)ol dolz gte

2HE £ Ql&LUCH 222 712E Ho{d(FHolg
Al E2F 7 o|2 UX| ol HISE =™ LEALZ X Fo{or2t FLICH &
Alofl ZH LIMZ 228 #H0|E AlARQ| =7| st& 0| MY ELICH

www.kipp.com - info@kipp.com 1/3



Kinn

AB[QIR]A AR QIHIA BRI, 217 X5 THs

=5 4Y/HIE o[0ix|

Mx[% 0 55| 24 & 97 R = 65mm O[5} EIX| AT = FolstAlAl
2. H170| LT Zo™ 0tm et haro| 7HE 4 Lt

TS SARIE 212 8 87 ol3}2 TRexIx HES AN 2
%] 9F O 9tojof TZof 40| YA 4 AALICH olof T/

2 olof greipt ~23 =8 ELIC LIS 2F HoZ o 22 7% U
S0f Q= LIS 9tolof7h SO0iLEM XI&Ao 2 Sy ELIC,

23 Al

S5 A wn

22Uy

e £
M EEHE F 0|2 0] %!t QldlA ZHX, 2tolof 2|1, 2= &2(E,
X LIAF M6 x 34mm 2 LA} LIZ @5 x 7mm.

HMIA2]:

£ZF L{E K0700.
=rjold #& K0638.
él‘HIOIA-I 2! K0665.
EZXIME EA K1290.
s 2 A K1502.12420.
=glo|3 7 0|E K2116.
Qtolo{ 2= K2023.
7{0|2 I|= K2024.
e &22 K2025.
=M 2 E K2026.

LEAF LIZ K2027.

EM MY

1) QI A ZK

2) Egi|o|= 2tolof 2|x]
3) E8jjo|= gtolof 7olg

4) ZH LIA
5) 55 24
6) LEAF LIE
7) HAH
=N
1)@ - L o L2 —ll S
13 LLF
™ o = a ‘
Q \ ) L
—g-=fF=—] | =
) — ggr
QD
SW .
Z= Q0
FEHS D D1 D2 D3 L L1 L2 L3 AEE3 SW Fx30° INES] ERE
S EtM =
F1 2 N F2 2F. N
K1502.02206X1000 6 M12x1,5 14 5 1000 18 49 10 6 10 1,8 6 14
K1502.02206X3000 6 M12x1,5 14 5 3000 18 49 10 6 10 1,8 6 14
K1502.02206X5000 6 M12x1,5 14 5 5000 18 49 10 6 10 1,8 6 14

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
= |
AE2I2|A AR OIEIA ERIK, HZ X5 IS
E= %
FEHS D D1 D2 D3 L L1 L2 L3 AEE3 SW Fx30° AlZ} Bty
S Bt S=
F1 2. N F2 2 N
K1502.02308X1000 8 M16x1,5 19 5 1000 23 59 10 8 13 23 15 35
K1502.02308X3000 8 M16x1,5 19 5 3000 23 59 10 8 13 23 15 35
K1502.02308X5000 8 M16x15 19 5 5000 23 59 10 8 13 23 15 35
K1502.02410X1000 10 M20x1,5 23 5 1000 24 65 10 10 16 2,8 15 34
K1502.02410X3000 10 M20x1,5 23 5 3000 24 65 10 10 16 28 15 34
K1502.02410X5000 10 M20x1,5 23 5 5000 24 65 10 10 16 2,8 15 34
K1502.02412X1000 12 M20x1,5 23 5 1000 26 65 10 12 16 2,8 15 39
K1502.02412X3000 12 M20x1,5 23 5 3000 26 65 10 12 16 28 15 39
K1502.02412X5000 12 M20x1,5 23 5 5000 26 65 10 12 16 2,8 15 39
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



